N & o & AF & H Al A
20209 &= =0l &t LB &
A EAXE L
M mApe
Chel: A2 ES EA¥E HHA M2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
A XA Dt 36,422,085 35,546,451 875,634
2 19,000
< 109,597
Al 36,293,488
e 26,399,876 26,120,678 279,198
= 19,000
= 109,597
Al 26,271,279
ANZs EAHE MHIA M3 10,593,032 10,563,270 29,762
= 13,500
Al 10,579,532
EALHBZBAR DALY MEUHY DS 1,000 3,000 A 2,000
201 2et24d] 1,000 3,000 A 2,000
01 At 22l 1,000 3,000 A 2,000
Ou=sss & ul ¢ 100,000& *102] 1,000
TS AJHX 24 1,962,032 1,853,270 108,762
101 @124 dl 332,547 264,466 68,081
04 JIZHHZ2XNESE S 332,547 264,466 68,081
OJtsd 8= 5,625
—Jl=s 68,7203 x5 x16L 5,498
—1E2E 5,497,600& x1.5% 83
—&MWEE 5,497,600& *0.8% 44
OIUAMX & M2d2Jl H™el 31,100
—Jles 68,7203 *5H 212 2 14,432
-5 103,080& 5% 20 10,308
= —A=E = 68,720 x5 H 52«2 H 3,436
— =30H= 28,173,000& *4.5% 1,268
—HLEE 28,173,000& *3.23% 910
—EJIYEH 900,000& %8.51% 77
—1E2E 28,173,000& x1.5% 423
—&MWEE 28,173,000%0.87% 246
O88s MgJ| REHEI & X 295,822
IR 68,7203 x 13212 128 225,127
—Re5gsE 68,7203 * 13 x4 « 42,882
— =324z 268,008,000& x4 .5% 12,061
— A2 268,008,000& *3.23% 8,657
—EJYEH 8,620,000& x8.51% 734
—1E2E 268,008,000& *1.5% 4,021
—&THEE 268,008,000& *0.873% 2,340
201 LBt2d| 512,168 463,187 48,981
01 Al 2+2/H 134,645 86,435 48,210




SH: BARAD
M HABe

Chel: A2 ES EA¥E HHA M2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OAIX HAZSE FL(UXR)
2,000 «3XtF+125F «12& 9,000
OAJX H#AEE P (M)
13,0003 x1JH*125H 13| 1,625
OMEHIIZS HH=2d 822 M
100& %20, 0000H x93l 18,000
OUEHII= HAEAM HotAg s A&
100,000& *10E = 13| 1,000
OstZilstd FAHAE 2248 23572
100,000 201 &+ 123 2,400
OFAXE FISAZT(HLEIZE)
360,000& +6CH*13] 2,160
oMYl 28HEI 3108 M=
240,000 90K 21,600
OMeJl HHERE 82 ZHHE MA
60,0003 *200H 2 +23] 2,400
OHJI2 SYHiE UAZAH AXAS(EN) P
2 30,000& x242H 7,260
OFAX 2 Hg=s ¥ otds Y 10,800
— &Y= 200,000& x18H #23| 7,200
— Ot& 3t 100,000& » 18K »23| 3,600
O 2Z0lstd &K A& HA =
800, 000& *33] 2,400
OMBDID2H HAUS SIE ABES HA =
=4 30 100,000 »23| 6,000
Otz A 2842 e 2294 M
50,000,000 » 14! 50,000
02 =224l 377,523 376,752 771
OFAXE KA 329,364
— S (9) 1,200 4420 «9CH«12& 57,284
— HAHIA JA(1501) 996, 100 1501« 122 179,298
— 2=dl(2201) 4,217 ,360& »22H 92,782
O=2=Ea2& &=d =l 100,000& *20CH 2,000
OLHEAIZE BE57YH 2,000,000& »43| 8,000
OgZ0latd SAHAE 2SI 7,800
—dIIR=a 100,000& =128 1,200
—&ot=ER3 150,000& »12& 1,800
—SIHEE= 100, 000& 201 &+ 12& 2,400
— S Azteldl 100,000 200 A+ 12& 2,400
OFAXNEXE MXHHl 20,000 +2CH <42 128 1,920
OFEAXE BZMERE S 400,000 23] 9T 7,200
OZENSEHED 4ot & HIIR=S
12,000& =128 144
OUEHIIES 2AHY HHEAAE FXE2H
350,000& »12& 4,200




2N
X ZH -
L= B

el

EEEADN;

& ot

[und

Azt

Alel

E HAME MHA M2

S o S o

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHIISEYHSII S WUEHE DN LER2H
23 2,130& 802 23| x12& 4,090
ORCEI| 2AIStHet =2l (0l & )bl
500,000& = 19CH 9,500
OZENSEZELD RAZHAAH AIER
169,500& =128 2,034
Od%E ZUHES 22D ©IIQ3
12,0007 84
OME ZUHEE SREHD D0AHAAY 4
=g 169,500& »7& 1,187
202 O4Hl 8,100 8,100 0
01 =S LHAYI 8,100 8,100 0
OAIIX HAXE A0
20,0003 «5H 2L 128 2,400
O&RJII2 ge2d AR FA0H
60,0003 *3H x32 «53| 2,700
O2E MZXY L DIHA Oyl
60,0003 x6H 2 +23| 1,440
OdEHII= SHEE N4
60,0003 x2H 1 +23| 240
OMEHIIE Ml EtAIZ AL Z AL
60,0003 x2H +33] 360
OHJISEYEI XNEHZA ol
20,0003 *4H 2«6 960
203 ¥ S =&l 4,000 4,000 0
03 AIEF=XH 2 =AY 4,000 4,000 0
OBASE H2xT AMEDY|
4,000,000& * 14 4,000
206 = Hl 417,168 417,168 0
01 =8l 417,168 417,168 0
OMYINZHM SEME(EHHE) 403,320
— 34 30& x5,00001 128 1,800
— 54 33&%10,00004*12& 3,960
— 102 413 x95,00000 =12 46,740
— 202 58& «260,0000H «12& 180,960
— 50¢ 124& x70,00000 128 104,160
— 1002 2193 25,0000 =123 65,700
OMY I ZEHEE HH(SZ28) 12,348
— 502 1243 +3,00000 122 4,464
— 1002 219%+3,00001 x12& 7,884
OULAMX M&M2| L SASHE 2018 &
Xl 150,000 » 1094 2 1,500
207 A RO & H| 22,000 0 22,000
01 289 22,000 0 22,000




SH: BARAD
ma: Zyape

Chel: A2 ES EA¥E HHA M2 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Q20218 & MEHIIE =2 ¥ S
25 Z2UY ANUE S A78Y
22,000,000 =14l 22,000
301 LA F 26,049 26,349 A 300
09 &AL HIXI &3 4,989 1,389 3,600
O3 &geld 8&X Ast  1,389,000& *12] 1,389
OXJIZ2HM oz el2gosl 48X As &F
=l 60,0003 30 *23| 3,600
12JEEd= 21,060 24,960 A 3,900
OXeJIZ2HM oz el2gos 820 =8 &
9| 500,000& *43| 2,000
OMII=8 I MDEAZ  100,0008 20H 2,000
OMdEHIS =& 2E HEYM TEIIE 2
& 14,560, 0002 14! 14,560
OSgHN=EF Hilgas NEEH
2,500,000& » 14! 2,500
307 21201 A 150,000 150,000 0
05 Rzt E = 150,000 150,000 0
OMIISHENSER SAEE S
150,000, 000& * 14! 150,000
401 A& HIZ 201 8] 340,000 200,000 140,000
01 A& HI 340,000 200,000 140,000
OZYHEE U SASE BAHD UE(1S/1
30m) 250,000,000 =14l 250,000
OMedIor HtEO0IEs MRS Al BHSI1 Al
M F=A 50,000,000 =14l 50,000
OS"8 &Il ZAIE 0ls4l CCTV &1
4,000,000 *100H & 40,000
405 RHoHF S HI 150,000 320,000 A 170,000
01 AL EZFH S 150,000 320,000 A 170,000
Ost=8 Faxgd 2 150,000,000 =1 CH 150,000
MEHIIES =& .28 &L 8,500,000 8,435,000 65,000
307 21201 A 8,500,000 8,435,000 65,000
05 RIZt2IE = 8,500,000 8,435,000 65,000
OMEHIIS 48 .28 A
8,500,000, 000& 14! 8,500,000
CNGE AT SE Y (2 R) 130,000 260,000 A 130,000
= 13,500
Al 116,500
405 RHoHE S HI 130,000 260,000 A 130,000
= 13,500
Al 116,500
01 AL EZFH S 130,000 260,000 A 130,000
OCNG Eaxtg 22 130,000, 000& 14 130,000




SH: BARAD
M HABe

Chel: A2 ES EA¥E HHA M2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 73.500
Al 116,500
ez =tstE sg NE=& 1,007,572 807,536 200,036
= 5,500
< 109,597
Al 892,475
Heg 2cltE =H MH =E 384,138 59,927 324,211
101 @124l 16,863 19,427 A2,564
04 JIZHHZ2Z2XNSE S 16,863 19,427 AN2,564
OMEBES =el=H 2ARAIE A I A 1,690
—Jl=s 68,7203 x5H x4 1,375
- 552 =¥ 68,7203 x5 0.8 275
—1E2E 1,649,280& *1.5% 25
—&THEE 1,649,280& *0.873% 15
OHMIH , A&X , 22S 288 E &X 22X
e 15,173
—Jles 68,720 x1H 212 «8 & 11,545
— == 68,7203 x1H x4 83 2,200
— =033 13,744,000& *4.5% 619
—d22E 13,744,000 *3.23% 444
—NE2E 13,744,0002 *1.5% 207
— &R 443,931&+8.51% 38
—&MTHEE 13,744,000& *0.873% 120
201 LBH2E| 23,625 19,600 4,025
01 At 22l 14,200 17,600 A 3,400
ONgss 2otz 28 822 M
100& *20,00001 13l 2,000
OMEE HHEMAH NS AS S H=
100,000 2004 2 2,000
OHEZE HIIEHMES 28XY 2=
400,000& 13| x12& 4,800
O M@l HE==HAE 88 5,400
- 84 60,000& 304 1,800
— & 602 *10,0000H 600
— oL H X & 50J04+60,000& 3,000
02 =224l 9,425 2,000 7,425
OUEHII= &otxE XA =X 2eldl
400,000& x53] 2,000
ONM&gs8s Ns=HI =X 2al
275,000& x93 «37| 7,425
202 O4dl 2,400 2,400 0
01 = LHAYI 2,400 2,400 0
OMEE =Z2IthE XS 20,000 «2H x4 +63| 960




2N
X ZH -
L= B

el

EATR D
Azt

e s

]I
Ot
ol

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OMEEANLY HdAX AS
60,0003 *2H x4 «33] 1,440
206 M= Hl 11,000 18,000 A7,000
01 =8l 11,000 18,000 A7,000
ONgEs Za==Hg ¢ 350,000& 204 7,000
OHAEX =Hg 2 200,000& *2004 4,000
301 LBEAZ 250 500 A 250
12 JIEtE &= 250 500 A 250
ORIEIIEES M AKX Z&3
50,0003 x5H 250
401 AIEHIZ 28I 330,000 0 330,000
01 A& tl 330,000 0 330,000
OEXs MEES AHs==2HI| &1
30,000,000& =121 30,000
OMEMHIIE HE =HANE &X
30,000,000 *109H 2 300,000
183188 ME =017| 5,068 4,102 966
101 @124l 5,068 4,102 966
04 JI12ZtHZ22 a2+ 5,068 4,102 966
O18lE3 AMUa AMEE AEHZA 5,068
= 68,7203 x6H x10 4,124
—ResgsE 68,720 x6H 2 825
— N8 4,947 ,840& x1.5% 75
—&HEE 4,947 ,840& «0.873% 44
S=s&oE &= N 10,000 20,000 210,000
= 3,000
= 1,400
Al 5,600
401 AIEBIZL 28I 10,000 20,000 210,000
= 3,000
< 1,400
Al 5,600
01 A& Bl 10,000 20,000 210,000
O gsHII2 =8A4 X 5,000,000& *24 10,000
= 3,000
< 1,400
Al 5,600
A3 Bt A WESSIAY 22 X2 66,500 87,000 A20,500
307 glz2tol & 66,500 87,000 A 20,500
02 It M AHEE 66,500 87,000 A 20,500
OX=g 0t 2=l 7,000,000 *3H 2 21,000
OXd=gas X3 7,000,000 =34 2 21,000




2N
X ZH -
L= B
el

A KA
A2

Hae slztse S8 &

40
A
o

o
SN FH-SA(EN) - MBAY - BES e HlnE2
OEctAE H=Zsh AISIEN 43 X2
24,500,000 =14 24,500
HUHY =H243 X& 25,000 24,700 300
= 2,500
< 2,500
Al 20,000
301 EEMZ 25,000 24,700 300
2 2,500
< 2,500
Al 20,000
1224 = 25,000 24,700 300
OgsHblE =HEdAH3 XS
25,000,000& =14 25,000
2 2,500
< 2,500
Al 20,000
=HYAOIZHEH CME 29 180,866 536,981 A 356,115
101 @124l 25,866 44,741 A 18,875
04 012ZtHZ22 S 25,866 44,741 A 18,875
OZAIOI24H 298X & s#Z33H o2yl 25,866
—Jl=s 68,7203 x1& 212+ 113 15,875
—522RE 103,080& x1Z «4 2« 118 4,536
- |5 68,720 x1F x4 »11& 3,024
— =03z 23,405,000& *4.5% 1,054
— AL EE 23,405,000 *3.23% 756
— 1828 23,405,000& x1.5% 352
—&MTHEE 23,405,000& *0.873% 205
—EJIYEH 752,000& %8.51% 64
201 Let249H] 52,960 130,200 ANTT,240
01 At 22l 28,960 71,200 AN42,240
OZAOIS2HdEH RNEZ208 W M
10,0003 4 & 2508 10,000
OYMOISHH 22 24X S M
1,000& x5& x1,000% 5,000
OGMOISHH 2EA3e 4+
100,000 53 »23] 1,000
OYMOISHH AIRES & 300,000& 122 3,600
OgMOIEHH E=J], BlO S
150,000& = 12& 1,800
O MBSHH &I, 2D adze] =
=3 300,000& = 12& 3,600
OYAOI24H 21| 180,000& =122 2,160
AA0I2HEH SHOIX =0 2 SAE b
= 150,000& 128 1,800
02 =24l 24,000 24,000 0




SH: BARAD
M HABe

S M8 IUSE S8 A= (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OYAMOISHH M3 200,000& »12& 2,400
O AMOISHE TAIIIA RF  800,000&+12& 9,600
OYAMOISHH &6t 2R3 200,000& 128 2,400
O AIOI2HE CHY, M3 SAe3
100,000& »12& 1,200
OYAMOISHH HAMEAE X 2L
500,000& »12& 6,000
OYAMOI2HH 3283 & 200,000& 128 2,400
202 04l 2,040 2,040 0
01 = LHA YI 2,040 2,040 0
OZAIOISHEH 243 3208 & 0l
60,0003 x2H x32 «53| 1,800
OZAOIS4H AIletA2e| & got2tel Xt w
= Ol 60,0003 »1H x4 240
206 M= Hl 10,000 16,000 26,000
01 MHZ 4l 10,000 16,000 26,000
OTAIEIHE HAOI2 HMSEIE A M=
-2 100,000& 505 *23| 10,000
301 LEAF 70,000 0 70,000
12JIE243 70,000 0 70,000
OYAMOIZ2 nsZ2 0 ZAt =Y 70,000
— A0 BIlu=s
30,0003 *2 Al 2+ x5 »40 3] 12,000
— X0tz SA0I2 L=
30,0003 *2Al 2t 1 x3003] 18,000
— AIOI2 &0l SeiA
30,0003 *2Al 2t 1 x2003] 12,000
—ZA0I2 20 HH
300,000& x10=F 2 #23] 12,000
— JA0IZ2 B2& A&S 16,000,000 =14 16,000
401 Al B2 2B 20,000 300,000 A 280,000
01 A& bl 20,000 298,000 A 278,000
OZAOI2dEH HAIE & s0IMEL JIsEH
20,000,000& » 14! 20,000
Mes subtYy dXIAY 336,000 74,826 261,174
< 105,697
Al 230,303
401 Al Bl 28I 336,000 74,826 261,174
< 105,697
Al 230,303
01 A& HI 336,000 74,826 261,174
O Hegssuog X 14,000, 0003 *24H 2~ 336,000
< 105,697
Al 230,303




A EAXE L
M HAaze
Sel: SASRHIIS YTE L AFH He (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SAESFHIIS Z2&s & HEH Hel 3,811,686 3,614,380 197,306
SASFHIIZ ¢EH XMl 3,811,686 3,614,380 197,306
101 @124l 12,983 15,310 A2,327
04 JIZHHZ2Z2XNSE+ 12,983 15,310 A2,327
OSASRHIISE 2P ASE AHZA 4,925
—Jl=s 68,7203 x5H x12& 4,124
—Re5gsE 68,720& x5H 2 688
—N828 4,710,000& *1.5% 71
—&THEE 4,710,000& «0.873% 42
OSAERHIIZE SEHM S 2EHZA 8,058
—JlEs 68,7203 x5 20 6,872
-—5=252 =¥ 68,7203 x5 32 1,031
— 1828 6,500,000& x1.5% 98
—MTHEEZ 6,500,000& *0.873% 57
201 L4l 79,403 72,770 6,633
01 At 22l 52,000 52,000 0
OSASRHIIZ 28 & ZcIHE s2=HMA
100& %20, 0000 23] 4,000
OSAESRHIIS UM 25HI
8,000,000& =14l 8,000
OSAZEHIIZ 442 I+ HyE
10,000, 000& x4 3| 40,000
02 =224l 27,403 20,770 6,633
OZ2s=H RFIDSEH Z2lA2E RXEx
A 67,000& =409CH 27,403
206 T2 Hl 61,300 61,300 0
01 M= 4l 61,300 61,300 0
SSTY SASFRHIIS =HEI 2SAE
-+ 14,000 = 1,950 4 27,300
OFHAXY SAHERHIS =HEI NI MY
5,000& =2, 000All CH 10,000
OSASRHIIES EMEH 24,000
—62lH 25@+15,0000 128 4,500
— 102/ 25% *2,00000 x12& 600
— 202/ 35&+15,00000 128 6,300
— 1202/ 353 30,0000 x12& 12,600
307 glz2+ol & 2,774,000 2,755,000 19,000
02 QIZtE A AHE X 114,000 95,000 19,000
OSAERHIIE =HEI HEH(SSFH)
5,000& *1,90001 x12& 114,000
05 RIZt2IE = 2,660,000 2,660,000 0




SM: BATED
M HABe
ool SASREIIS T3 2 AFH Hel CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSASFRHIIZS Mol AU
2,660,000,000& 14 2,660,000
308 XX EHSOIA 20,000 10,000 10,000
08 WSII20HetE = 20,000 10,000 10,000
OSASRHIIS LMK T20y 2yt
A& 2,000,000 1004 20,000
401 Al HI K 201 I 804,000 450,000 354,000
01 A& HI 802,000 450,000 352,000
SSFY SA2MY I SEHM(RFID) & X
2,000,000 *500H 2~ 100,000
OSAMEXASAIE ZHl 2=l
50,000,000& =14 50,000
OSASXASANE =HelAE HLA
298,000,000 =14 298,000
OSASTSAE o2 SH2R b (3
Xl, 6,897m2) 290,000,000 =14 290,000
OSASXESANE Jlsd e S
64,000,000 =14 64,000
03 AIE 2 THHI 2,000 0 2,000
OSAEXNASAE =HelAE LAY 2
=l 2,000,000 =14 2,000
402 2I2H X201 M 60,000 60,000 0
01 212t 2 A E = (REMTH ) 60,000 60,000 0
OSASELTEIIN (2 TSFY 2252
A &R 10,000, 000& «6H 2~ 60,000
= gz 2922 2,042,210 3,013,655 AQ71,445
MEHHEE A2 2l 1,824,850 596,295 1,228,555
201 et 176,870 177,115 A 245
01 At 221l 45,030 45,275 A 245
Olgd =23 A =2 6,680
— XIGt==2& At 170,000 45 *43] 2,720
—EEF=ZA 330,000& =122 3,960
ONEE MIQMBRIMNY 242
160,000& =128 1,920
Omgd A tdz 7 76,0003 x5H 380
Ogd d=J] ZH S uA
110,000 = 1CH x4 3 440
OSUNBAIAE HARX A
70,000& =124 840
OME 28 F7AHY 2 7
170,000& =23 340
O EAIE FH2Y L7
5002 =50 128 300
OZectZgd gxxz 200,000 x1CH+128 2,400




SH: BARAD
Ha: Fyapel
0

& 2XsS HEgd 2322l
SA - ZE-B(EA) - NRAY - B S il &t o il
ONEAIZEH EH & SHIY 1,430
— Z2lH 640,000 *x1CH 23] 1,280
-& ¥ 150,000 1CH 13l 150
O A= RANE=E HIINM s 7&
100, 000& *23| 200
OEgd gd=2a4 28,800
-2 60,0003 x1H » 115 6,900
— =7 60,0003 x 1 +3652 21,900
Oxgl= DY (WYY =)
200,000& x5H «13] 1,000
OXtg I A= 75,0003 *2CH 23] 300
02 =224l 131,840 131,840
OFE+XelZd ™=kl H™eldl
60,000& x100m* %23 12,000
Odu)l S (HEH) 250,000 *2H 500
Olg® 2ots =82 Xl
60,0002 *335+1/4 495
O M8+ =32H 2 Hi2xwX2el
1,957,00024 *17H 2 1,957
ONEE MEgs 233 84
200, 0003 *2Jf 2 *23| 800
OBZE+Held 2HS S22l
2,000,000& =13l 2,000
OME & H2C ==cltl 1,000, 000& *33| 3,000
OO0IEX, 220 & S82RJ |FX 22l
250,000 *33| 750
OEgd SEES&H |XNEI(24I1) 8,000
— =4 800,000& =103l 8,000
OEd =ESTH w57l 30,600
— =40 1,200& %854 300 30,600
OEZEH(158) R L KFFYH 6,218
= Al 400,000& =103l 4,000
=S4l 1,200& 1544 =12& 2,218
Oogaxg X &€ SEF2H 6,204
— S Xl 400,000& =103l 4,000
— 54 1,200 1534 =128 2,204
O=4D] EOI M 2 =2l 6,400
— EtOI O 300, 0002 =84 2,400
— EtOIOi= =2l 4,000,000 = 1CH 4,000
ONg® dJIea 15,720
— AR (LErE) 550,000& 122 6,600
—dExHel (1Y) 760,000& x12& 9,120
OgH dot=& 23 200,000 »12& 2,400
OXNHLSEHZ (MM H) 560




AN EAXE D

8 yapel
Sl ¥NS HEH 2 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— 24| 250,000 *2CH 500
— 0l & Xt 60,000 ~1CH 60
OQBHANEELZ2(MHE R AEZ2)
172,500& *23| 345
Ogzlal HHA 222 HA2HI (0 &)
950 & %24 *8A| 2H*2JH A %95 2,888
Oz UHeE AdZHI(SER)
950 x14 *8A| 2t*2CH 95 1,444
OEAI XU (HEA) 100,000 53| = 1CH 500
OMYE =@ ALAES o 2|
200,000& x6H 13| 1,200
Ogd JINEEHS SHHIMERE =2
162,000 «3CH 486
O AL "HIIZAA =22 (0§3¢)
21,373,000& 13l 21,373
O a M4 (2Y) dis9Y|
2,000,000 32 13| 6,000
202 04d| 1,080 1,080 0
01 2Ll 1,080 1,080 0
O&F & =&ZA 23 60,000 *2H x93 1,080
206 M = Hl 43,100 43,100 0
01 M =4l 43,100 43,100 0
Og & 2RI 23,000 *7002| &1 16,100
OFE4LXHeld 4FFRH| 1,000 *3, 0004 3,000
OMgd 2 2 8,000 x3,000m 24,000
307 2Iz2t0| & 943,800 0 943,800
05 QIZ2tRE 2 943,800 0 943,800
OUEHII= |E Heldl
310,000& 300 x8.6= 799,800
OMEHII2(HERA) KAE H™eldl
16,000 *30JH *300 144,000
308 XX SHHSOIH 350,000 350,000 0
11 JIEtR Y =2 350,000 350,000 0
MEH I 2 A2 350,000,000 » 14! 350,000
401 AlEHIZL £ 0HY| 10,000 25,000 A 15,000
01 Al&EH| 10,000 25,000 A 15,000
OME BEMH L F# 27 Iyl
10,000,000 « 1Al 10,000
405 XHAHF S HI 300,000 0 300,000
01 AL 2 ZF S| 300,000 0 300,000
OAHEINAHHY(22D]) 7
180,000,000 =1CH 180,000
OHEIHAEH RY(HEZEH)
120,000,000 =1CH 120,000
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